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M.Com. (Previous) Examination
FINANCIAL MANAGEMENT
Paper : MCOM-04

Time : 3 Hours | [ Maximum Marks : 80

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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Define Financial Management.
forita werer =1 aRtwfea sifSa )
State the nature of equity shares.
G AT T THE TRy |

What do you understand by Net Income
Theory of Capital Structure ?

ISt WA & YE A fagra ¥ A9 R wEed
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Explain cost of capital.

TSIt AFTA Sl qRYIfa it |

What do you mean by financial leverage ?
fodita ST | efaeRt @ STy § 2
What is Net Present Value ?
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(vii) What is conservative dividend policy ? 4. When would you prefer debt capital to equity ?

FOR i Hifq w2 Upto what extent you will do so ?

111) What is permanent or regular orkin . . .
(vii) P 8 WOrkng MY He Tk IHAT Yt & FSMF RO IS H TEG

capital ? ’ ’
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Section-B 4x8=32 5. Shree Synthetics Ltd. issued 10,000 ten years 8%
(Short Answer Type Questions) Debentures of ¥ 100 each at 4% discount. Under
Note .~ Answer any four questions. Each answer should not the terms of Debentures Trust, these debentures are

exceed 200 words. Each question carries 8 marks. to be redecmed after ten years at 5% premium. The

Qg —d . ] )
cost of issue is 2%. Assuming corporate tax rate
(g T q99)
e - Frell SR el § SR GRTl ST ST SR R at 50%. Calculate before and after tax cost of debt
Afererag 200 visi H UREfHa wifST) vow w9 capital.
8 5t 1 % st faafesm f. ¥ 4% =2 W % 100 91 8% 10,000
2. “The time value of money is important principle S—— S S A

of financial management.” Discuss.

Yo o wEE g fodia yeew w1 weeel fas

FIER ¥ RS TH 9 9= 5% WiHEH W e
F1 frfo o 2% ®1 e S H T 50% HEA

g1 T
3. Write a short note on Project Planning. FH qd T R h TWHE R S A hT O
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. Write short notes on the following :

(@) Types of Preference Shares

(b) Management of Income

frafafea w— d@fya femfrn fafe .

(31) SIfemM Sel & THR

(9) ™ &1 9o

. What do you mean by Receivables Management ?
How will you control the investment in receivables ?
Explain.

W & Jor F STwT 1 A & 2 et #
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. What is Cash Budget ? What are the methods used
in preparation of cash budget ?

JHE a5 F1 & ? UHE a9 TIR A H HiFe!
fafera gge &1 St § 2

. Write short notes on the following :

(@) Operating cycle of working capital
(b) Objectives of inventory management
frafafea = dfva femfrn fafex .

(37) wERE St 1 9REed 9%

(9) Y JaY & 35
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Section-C 2x16=32

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.
Each question carries 16 marks.
gug—d
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10. Critically examine the Walter’s model of dividend

decision.

Ay foig & SISl Hied T STeEAHE qeTo
RIS |

11. “The functional area of financial management is

broadening day by day.” Do you agree with this

statement ? Give answer with reasons.
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12. The following information is available for Ankit

Ltd. :
sifa fafiee & w=fem fFefafea gemm STesy € :

4
EBIT 11,20,000
Profit before tax 3,20,000
Fixed costs 7,00,000

Calculate % change in EPS if the sales are expected
to increase by 5%.

gfg 2791 oo # wiawa ufads 3 wifsw, g fsehr
T 5% gfg &1 mem A

13. “Internal Rate of Return (IRR) is a superior
technique than the Net Present Value (NPV)
method.” Do you agree with this statement ? Give

brief critical view in support of your answer.
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